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Topic:- General Science

1) What happens in a filament lamp? /
T dq av (paric av ) A | giar 82
1. Chemical energy is converted into light and heat energy. /
RS Suif, THTT SR ST GHoft & gRkafeld St 2
2. Heat energy is converted into electrical energy. /
1 S, fagad St # ufkafdd g 81
3. Solar energy is converted into light energy. /
TR S, YebT=1 it & uikafefd gt 3

4. Electrical energy is converted into light and heat energy. /

fagaa S, gepTer 3R ST ol #f uRkafddd gl g1

Correct Answer :-

» Electrical energy is converted into light and heat energy. /

fagua S, gaTer 3fR ST ot #f uRafedd gl 81

2) What colour change is expected when a piece of red litmus paper is dropped into a solution of common salt? /

Wq AT forend TR & U gohs &) A= aqul & faaa & Rt faan wirar @, &) few &1 & ufvad= 91 srdem & et
?

1. Blue / =Tell

2. No change at all /ﬁ?g"_vf El'ﬁétlﬁ_d?h:lﬁf
3. Red / oIl

4. Pink / TSl

Correct Answer :-

e No change at all /ﬁ@?{aﬂs‘tﬁ‘dﬁ?ﬁ

3) Which one of the following objects is NOT a self-luminous object? /

rafifEa 3 @ o9 te avg, o ag T &2
1. Moon/aatn
2. Electric bulb / [ooTcl &1 deq

3. Sun/ﬁ[{f

4. Star / dRT
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Correct Answer :-

+ Moon / IgHT

4) Which of the following will give blue black colour with iodine solution?
(i) Boiled rice

(ii) Sun flower oil

(iii) Sugar solution

(iv) Egg white

/ Frafafea & & $19 smadt fyaa= & wry = srar &1 3m?
(i) ST g1 dTdd

(ii) XY BT det

(iii) X1 faerg=

(iv) SIS B AT

1. (i) and (ii) / (i) 3R (ii)

2. (i) only / Had (i)

3. (iii) only / B (iii)

4. (iii) and (iv) / (iii) 3R (iv)

Correct Answer :-

« (i) only / ad (i)

5) Which of the following feature is INCORRECT for polar bear? /
FrafafEd & @ o= @1 5y, T TR & TR # 71ea 32

1. Slippery body / I IR

2. Sharp curved claws / W YHIAGR oo

3. White fur / 90hG B

4. Layer of fat under the skin / <dl & - a1 BT IR

Correct Answer :-

« Slippery body / I IRR

6) Which of the following soil has the highest water holding capacity? /

fFrafafEa & 3 fra il & 9a orftre sa uror grgan g1t 82
1. Roadside soil / 8 & fH-R P gt

2. Open field / el A

3. Desert / YA

4. Forest soil / d ﬁl@

Correct Answer :-

 Forest soil / ﬁg"r
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7) Which of the following mirror can be used to form images of objects spread over a large area? /

fFafafaa & @ e afur &1 3ua, 98 87 & thell axgai & ufafdel &) a9 & e fear s awar @2
1. Biconvex mirror / SHTIIE Gyl

2. Convex mirror / 3 GUUT

3. Plane mirror / FHAT GUUT

4. Concave mirror / &ra‘daatfm

Correct Answer :-

e Convex mirror / 31 E{d'UT

8) Which of the following fibers is used for making terry cot? /
Frafafea Y= A 9 frae wa Hiwie 79 & fog far s @2
1. Polythene, wool and cotton / qﬁ?ﬁ:{, 3 Td HUN

2. Teflon and cotton / CHATT Td HUN

3. Nylon, Terylene and cotton / WV'I:L e Td Hury

4. Terylene and cotton / iG] Td HUN

Correct Answer :-
e Terylene and cotton / iG] Td HUN

9) Animals which lay shelled eggs excrete their wastes as: /

TIER 33 37 918 U, 9 FU A 37 U BT IoHwi— Hd &
1. Nitrogen / ATSCIS

2. Uric acid / IR 3%

3. Ammonia / 3{HITT

4. Urea / gRAT

Correct Answer :-

e Uric acid / W ST

10) The state which is NOT vulnerable to cyclone is: /
98 VTS, &l TehaTd o U Tl @

1. West Bengal / LIEEKHIS

2. Andhra Pradesh / 3{T$] Tc®T

3. Rajasthan / TSI

4. Odisha / 3fEM

Correct Answer :-

» Rajasthan / TSTRYT

11) The settled solid that are removed in waste water treatment with a scraper is called .
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TS THWR & 1Y AURY TeAvaR & gerg 7¢ RR s Ht FET AT
1. sewage / AlfedHd

2. waste soil / 3{UfRTSe fHg}

3. sludge / 3TU®H

4. humus / gIHY

Correct Answer :-

+ sludge / 3TUD

12) The incomplete development in tadpoles is due to the insufficient production of ./
Tsuia ¥ aref} faeTa &1 HRUT BT Jqafed Ire 3|

1. Insulin / Eﬁﬁ“ﬂ

2. Thyroxin / YRR

3. Calcitonin / HEHTCIH

4. Growth hormone / W14 T

Correct Answer :-

e Thyroxin / YTRIfT

13) The part of the cell that controls the movement of materials into and out of the cell is: /
PIRIST BT I§ T, S HIABTSH F e R e F ygrd 31 wferziierar 1 Frafa szar g, e §:
1. Centrosome / dARP DY

2. Lysosome /Fﬂ%@?hﬂ

3. Nucleus / s

4. Cell membrane / BRI %Iﬁﬁ

Correct Answer :-

« Cell membrane / BIRTHT %Q’_Vﬁ

14) The nitrogen fixing bacteria present in the root nodules of leguminous plants is /
TellgR Uiel &Y 9@ dfeT & SufRid Argeioq diffasterursiia, . gl

1. Nitrosomonas / ?I%‘cﬁ@'ﬂﬁ'—m

2. Rhizobium / IGSNTSTH

3. Rhodospirillum / S RUTSeH

4. Azotobacter / erhzﬁaa

Correct Answer :-

« Rhizobium / AN STH

15) The handle of an electric kettle is made of: /

s fagad Facht &1 gt e A Affa gar @:
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1. A semiconductor / Uch 3 of IrcTH
2. A conductor / §h Hdlgh

3. A carbon rod / Udh CACE] aﬁ@_s'
4. An insulator / Udh ﬁ’g’{qﬁ RECy

Correct Answer :-

 Aninsulator / Udh ﬁ_ggq_d YD

16) The unit of temperature is: /

ATTHH B 5PTS = 2

1. Degree Celsius | f&oht S
2. Ampere / m

3. Second / YHS

4. Metre / HIcX

Correct Answer :-

e Degree Celsius / F&7 S

17) The slow process of conversion of dead vegetation into coal is known as: /

Td awfadl & H1gd # wuiarur Pt et ufemedr 00 $ed @l
1. Fossilization / SHATRHTHRUT

2. Carbonization / BTE-THR0T

3. Preservation / TIRR&[0T

4. Decomposition / 3{UYUCH

Correct Answer :-

o Carbonization / CACEIGERUI

18) An endemic animal of Pachmarhi Biosphere Reserve is: /
TIE! STAHIAR od @1 U RIS U 8:
1. Tiger / 9T

2. Bison / g4
3. Parrot / AT

4. Lion tailed macaque / R ot Ug arelm ABIH

Correct Answer :-

¢ Bison /dlgd

19) An electroscope is used to find out if an object is ./

fRigudes A Iu) T T 98 F1d B9 F Ry frar s 8, fp awg 2
1. organic/m
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2. electrostatic / R dgad

3. magnetic /W
4. charged / STafRrd

Correct Answer :-

o charged/ SMafdrd

20) ‘Evening star’ is the name given to /
«gafoT WR” | Bl e mar

1. Pole star / §d dRT

2. Sirius / HRTH

3. Planet Mars / §7Td Ug

4. Planet Venus / Y[sh U5

Correct Answer :-

« Planet Venus / Y[h U5

21) An object is vibrating at 25 hertz. What is its time period? /
TS 9% 25 B ol IR HU B 381 ¢ | TP 90T 3afy w1 82
1. 0.04

2.04

3.02

4.0.02

Correct Answer :-

22) Bells are made of metals because they are in nature /

e ygF TN RPauplad_ gt
1. soft / IRH

2. malleable / STETAAY=T

3. sonorous / @1

4. ductile / I

Correct Answer :-

« sonorous / @TH®H

23) A truck travels 48 km in 80 minutes. The speed of the truck is: /
% ¢ 80 fie A 48 it Ftammsxar 81 cr Fr a@ 8:

1. 10 m/s

2.8 m/s
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3.6m/s

4. 4 m/s

Correct Answer :-
e 10m/s

24) Choose the CORRECT sequence in which wool is obtained from the fleece of a sheep. /
I el 3IpH A, o T WS It el I & e fbar S 2
1. Sorting, scouring, picking out of burrs, dyeing, shearing /
BT, FEY0, SR &1 92, T8, A B
2. Picking out of burrs, dyeing, shearing, scouring, sorting /
R BT T, T, S Feid, effor, Serg
3. Shearing, scouring, sorting, picking out of burrs, dyeing /
S Fad, FEY, BeTs, SR BT 99, T
4. Scouring, sorting, picking out of burrs, dyeing, shearing /
frefor, Sers, SR &1 98, T, 3 B
Correct Answer :-

« Shearing, scouring, sorting, picking out of burrs, dyeing /

Tl B, o1, erg, SR 1 T, TS

25) Anaerobic respiration in our muscle cells leads to the production of: /
AT At HIRrETe § Srardy 4O SHST ST T 8

1. Lactic acid and carbon dioxide / dAfded 3 3R Bra 313@@133

2. Lactic acid and oxygen / Afdees 3t 3R 3ifaiio

3. Lactic acid only /Wﬁ% KT

4. Lactic acid and alcohol / Afdcd 3 3R WEU'IT’T

Correct Answer :-

e Lactic acid only /WW 3T

Topic:- General Hindi

1) ‘geRiipa BT 0L ARG g FE A AT A2
1. g gRI$d

2. gt R Ppd

3. Al BT Hd

4. A B Pd

Correct Answer :-

. TR gRIBd
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2) T BT A A HH A9 ey e @2
1. €

2. 988
3. Ry

4. 7Y

Correct Answer :-

3) firdere &1 g # A o9 a1 9 e T 32
1. 3ot
2. 3T
3. Uy
4. 3T

Correct Answer :-

4) 3y ST A T Vg P A A P A2
1. 3MTaTdt

2. SN

3. 3mfiy

4. g

Correct Answer :-

5) I ITWI A 1 Aeg FH A A B AT R?
1. IHY

2. W

3.9¢

4. 3dR

Correct Answer :-

6) ‘Herea d Il gl fg A d s are?
1. HGF ¢ St &

2. HgI¢d

3. TgTed 3iufd Rra

4. HETE aa ol
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Correct Answer :-

. TgAESIga

7) R s id e wTad Raa T 22
1. rdws

2. YH

3, UIUH
4. qIe1H

Correct Answer :-

. Wi

8) ‘SIHMGI BT gl ARG faug Fu A A w182
1. ST H ST

2. 316 ST

3. §1% & forg et

4. T BT TS

Correct Answer :-

. S & fag et

9) AT FIYSF FUFF A AT ATR?
1. T

2. AR

3. e

4. Tagl

Correct Answer :-

10) ‘Tl & fog et O fasde &Y g1
1. He+3dd

2. HgI+3d

3. Hgl+$hdd

4. Hg+3d

Correct Answer :-

« HeH+3dd

11) ‘Agwr & forg vt iy fadg +1 9|

1. TTY+3R
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2. qY+3™
3. dY+3I™
4. TTY+HTY

Correct Answer :-

12) Fo¥’ F e Ot vafgard ar vl 3t ufeda & g
1. SR, A, AT

2. SR, HYd, IR

3. TR, H, A%

4. S{fRTH T T

Correct Answer :-

13) ¥ IUWI A TN T R A A BT A B2

1. Ui

2. YR

3. Ui

4. YR

Correct Answer :-

14) GIN®T FTYFFUFAFAA P2
1. gRepT
2. GRIBT
3. gIR®
4. GRPI

Correct Answer :-

15) Idts & fore el Oy fasde &Y g1
1. s =
2.3A+3=%
3.4+
4. SR

Correct Answer :-

. s
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16) T ¥ forg O vafgarh ard wrea) i ufda w1
1. R, I, [
2. SRR, JRIaID, fed
3. SFFRYR, GRaIp, fdl
4. SFRYR,FRAAIp, fGa

Correct Answer :-

17) BF B YE U AT A AP 82
1. Bl
2. bd
3.5h
4. BT

Correct Answer :-

18) Wl S AIAA N e & R tor ag P A A DA 2
1. 389

2. 3faTol

3. 3fqreT

4, 3T

Correct Answer :-

19) TR BT AT GeTak &1 I P R d A PR
1. 41T 9 ¢ aTell &R

2. HIRgT ¢ aTel R

3. ST & a7 GIRd

4. 3TEIH & U@ arer 9rg

Correct Answer :-

o 1T A aTel R

20) Ry gafa fSewfa Rewe, Yo waw ik sl

adl 3re1 3 ool R s A Afm A I s arEm e
1. YIS 9

2. Yfaa

3. HIURY
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4. PR IY

Correct Answer :-

21) FAUR S G HTINT & A TF I P A A HTATR?
1. STRT

2. RTE

3. 3WRIeH

4, gafga

Correct Answer :-

22) AT RR W IS Gerak &1 3 g e A A s are?
1. IR YA

2. SR ¥ @I

3. 9IR I 9T

4. 9 AR HAT

Correct Answer :-
. Sgd IR BRAT
23) ‘FUR-IER P i Yeray o1 3 Py et A A P ATR?
1. Y S
2. Tg1 981 B! Tl §1d BT
3. g1 §1d AT
4. SR GibT

Correct Answer :-

. e

24) '3 I TR S # B 97 PR &2
1. SUHI
2. Y

3. JH®
4, 3JUT™

Correct Answer :-

25) g3 YW UM AYR HUD' H B AT (GPR 82
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1. %Y
2. IA&l
3. GA®
4. 3T

Correct Answer :-

Topic:- General English

1) Select the suitable conjunction to complete the sentence:
I shall be happy _____my brother goes with me.

1. since

2. when

3. after

4. before

Correct Answer :-
« when

2) Choose the most suitable determiner for the given sentence.
Have you seen Raphael’s paintings? I haven’'t seen ___ .

1. much

2. any

3. him

4, few

Correct Answer :-

3) Choose the appropriate modal to complete the sentence.

I promise, I try to do better next time.
1. could

2. will

3. may

4. can

Correct Answer :-

o will

4) Choose the appropriate articles to complete the given sentences.

Look at shop around the corner. That is one I was referring to. We will take look in the shop.
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1. a, the, a
2. the, a, the
3. the, the, a

4. a, a, the

Correct Answer :-
o the, the, a

5) Choose the appropriate articles to complete the given sentence.
Set back ____ clock. Itis ____ hour too fast.

1. the, a

2. the, an

3.a,a

4, a, an

Correct Answer :-

6) Choose the appropriate articles to complete the given sentence.

The equator divides ____ Pacific ocean into ____ North and South Pacific ocean.
1. a, the

2. the, the

3. the, a

4. a,a

Correct Answer :-

7) Choose the appropriate prepositional phrase for the given sentence:
We were able to complete the task the locals.

1. in the help of

2. by the help of

3. under the help of

4. with the help of

Correct Answer :-

« with the help of

8) Choose the appropriate preposition for the given sentence:

The terrorists were killed the commandos in a fierce gun battle.
1. by

2. from
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3. at

4. on

Correct Answer :-

9) Choose the appropriate noun form to complete the sentence.

The stereo cost me seven rupees.

1. thousands of
2. thousands
3. thousand

4. thousand of

Correct Answer :-

o thousand

10) Choose the appropriate form of the tense for the given sentence.

They for Delhi yesterday.

1. left
2. have left
3. had left

4. leave

Correct Answer :-

o left

11) Choose the appropriate form of the adjective to complete the given sentence.
The metrois__ to my house.

1. nearer than

2. nearing

3. next

4. closer than

Correct Answer :-
e next

12) Choose the option that best transforms the given sentence using a question tag:
The boy didn’t know the visitor's name,

1. isn’tit?

2. wasn’t it?

3. did he?

4. didn’t he?
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Correct Answer :-
o did he?

13) Choose the option with the appropriate punctuation inserted in the given sentence.
Milton one of the greatest English poets was blind

1. Milton, one of the greatest English poets, was blind.

2. Milton, one of the greatest English poets was blind

3. Milton one of the greatest English poets, was blind.

4. Milton one of the greatest English poets was blind.

Correct Answer :-

« Milton, one of the greatest English poets, was blind.

14) Choose the option with the appropriate punctuation inserted in the given sentence.
Did you understand why I was upset

1. Did you understand why I was upset.

2. Did you understand why I was upset?

3. Did you understand? why I was upset?

4. Did you understand? Why I was upset?

Correct Answer :-
» Did you understand why I was upset?

15) Choose the correct form of verbs for the given sentence:
I__ backand ____ agoat chasing me.

1. looks, see

2. look, seen

3. looked, saw

4. looking, seeing

Correct Answer :-
o looked, saw

16) Choose the correct form of verb that is in agreement with the subject:
There _____ a lot of activities happening around us.

1. are

2.1

3. has been

4. was

Correct Answer :-

e arc
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17) Choose the correct form of tense from the given options:
Look at those clouds! It to rain.

1. is going

2. was going to

3. will be going

4. going to

Correct Answer :-

e isgoing

18) CANCELLED

Choose the appropriate preposition for the given sentence:
The fan my head is making a lot of noise.

1. about

2. 0on

3. above

4. over

Correct Answer :-

* above

19) Choose appropriate articles for the given sentence:

We made ___ plan to go to watch ____ film on Saturday.
l.a,a

2.a,an

3. the, the

4. the, an

Correct Answer :-

20) Spot the error in the given sentence:

A crowd of people has gathered to watching the cricket match.
1. people has

2. gathered to watching

3. A crowd of

4. the cricket match

Correct Answer :-
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 gathered to watching

21) Which of the following is the prefix for ‘operate’?
1. de

2.un

3. mis

4. co

Correct Answer :-

22) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Real estate prices steadily.

1. rising

2. are rising

3. will be rising

4. is rising

Correct Answer :-

e arerising

23) Fill in the blank with simple present tense of the verb from the given options:

Kiran and Sumera to get a first class in the examination.

1. hope
2. hoping
3. are hoping

4. hopes

Correct Answer :-

24) Fill in the blank with the appropriate prefix from the given options:
I felt _ secure talking to a stranger and so called the police.

1. de-

2. dis-

3. in-

4. un-

Correct Answer :-

25) Fill in the blank with a suitable collective noun from the given options:
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The ______ aboard the aircraft were very friendly.
1. crew

2. employees

3. staff

4. workers

Correct Answer :-

Topic:- General Mathematics

1) x=42 46 49 51 55 a 56
Fy 4 4 1 4 1 4

If the mode of the above unimodal data is 49. then the value of “a” = ol
I W TS 3T FT dageis (AIS) 49 B, T “a” F H

1. 56
2.51
3.49

4.42

Correct Answer :-

The given pie chart represents the expenditure of a family on different items. By reading the pie chart,
find the expenditure percentage on housing /

& sy o T &, ve UNaR can fafdes ol W R 1w e & gt amm §1 59
U TIC HT LTS HOh ATAH U Bl arell & fgerd A &3

P e
Miscellaneous ! 50
70 240°

Housing

Food

1. 62.5%
2.51.8%
3. 66.7%

4. 58.4%

Correct Answer :-

e 66.7%
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If the simple nterest on a certain sum for 3% wears at the rate of 6% per annum is Bs. 5460, then the sum
is_ ./ ]

afg uftt af 6% HT & ¥ 32 awt & fav v fafeaw I & AR AT 5460 FAC R Al
afar el

1. Rs. 28400 / 28400 ¥UUT
2. Rs. 30000 / 30000 ¥YU
3. Rs. 26000 / 26000 YUY

4. Rs. 31460 / 31460 34T

Correct Answer :-

» Rs. 26000 /26000 24U

4) Bwv what number should ( = )% be multiplied so that the product mav be equal to ( = et
3 5

Gy =1 5 ST W IPT FE Ao S G aoeea () S @R aed 61

5 The product of the multiplicative mverse ofl—sﬂ and the additive mverse of_Ta is: /

i%wwﬁ?ﬂ:mwwwﬁ:

1z

-5
16

LA | o

4.

Correct Answer :-
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6)
If the area of the sector of a circle of radius 10cm is % cm?, then the angle of this sector is- /

afE 10 Wl B2 @ W goa & Fisds & amee SR 8, O 56 Foads & A

4. 1907

Correct Answer :-

3.4

4.3

Correct Answer :-

Shilpa placed 76 candlesin a row to decorate her garden during a festival. If the distance between two

adjacent candles is :—i m, then the distance between the first and the last candle is: /

fareTr = & cOlgR F SR 31U @9 & 99 & o s ofdg & 76 Aeatcaa @i g
m%ﬁﬁ%@aﬁqﬁimﬁﬁwwmmtmq&&

3 3
18;111 f 18.;}1 [+L ]

1 1
20-m J 20- Fred

a1 212 #Frex
3 ~14m1’b14

4.19m/19 Hiex
Correct Answer :-

3 3
18:}11’1 ! lﬂsﬁlﬁ?

9) f2= (i; P+ (%}-ﬂ _ then the value of(%)‘l is: /

g

A 2= 2y + (a7 2y & A E:

a
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16
25

25

il o

v

4.

Correct Answer :-

10) Express (3m + 14n)2 - (3m - 14n)2 as a monomiial. /
THUSI U H (3m + 14n)2 - (3m - 14n)2 P UG HI:
1. 9m(14n)

2.9m?

3. 168mn

4. 64mn

Correct Answer :-

e 168mn

11) Simplify: / X9 L

215-[144 T (12x12) + (-8) - {2- 12— 73]
1. 205

2.219

3. 199

4. 243

Correct Answer :-
e 219

12) Which of the following is the set of measures of the sides of a triangle? /
Frufafea & @ o1 te iy o yonei F o #1332

1.4cm, 6cm, 1lcm/ 4@1:?[, Gﬁﬁﬁ, et

2. 6cm,7cm, 15cm / 6%, 7@1& 153t

3. 6cm , 12cm , Scm / 69HT, 129HT, ST

4. 8cm, 5cm, 10cm / Sﬁ, Sﬁ, 109+

Correct Answer :-

« 8cm, Sem, 10cm / STHT, 534, 10THt
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13) If the area of a trapezium is 54cm? and its altitude is 9cm, then the sum of its parallel sidesis_ ./
Ife TP TUET BT &6 54 AU YT TP FHaTs 9 A B, 9l 30 GHHIGR yensi 1A g1
1. 9cm / 9T HT

2. 4em / 4741

3. 8cm / 8THT

4. 12cm / 1299t

Correct Answer :-

e 12cm/ 129t

14) If the point (a, 4) lies on the line represented by 3x —y = 2, then the value ofa=___./
g 3x -y =2 RIS T R g 2, o) RAR, daBTHA=_ |

1.1

2.5

3.3

4.2

Correct Answer :-

15) A box contains 25 balls bearing numbers 1, 2, 3, 4, , 25. If a ball is picked at random from the box, then the
probability that the number on the ball is divisible by 5 or 7 is: /

TH TR 1,2,3,4 , 25 ao famm Tl arelt 25 713 75 g3 §1 afe T A arefe 50 FU A TH A
A AT, 99 g Tl g W sifera e 5 sryar 7 | fAutsy g, 3aet mikear §:

[
uul"" fﬁlc\

| o]
U’ilm

4.0

Correct Answer :-

16) The zeros of the quadratic polynomial 3x% + 12x are: /
%WWSXZ +12x 3732]?3[%

1.3and4/3Td 4

2.1and3/17d3

3.1and4/1Ud 4
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4.0and-4/0Ud -4

Correct Answer :-
e 0and-4/0Td -4

17) The angles of a triangle are arranged in ascending order of magnitude. If the difference between each two consecutive
angles is 15°, then the smallest angle is .

TP B0 P HIoN ) gRAT0r & RIS HH A sqafeud fHar simar 81 afe Ude &) HANTD S0 & Heg 3iaR 15° 8, a1
T BT HIU |

1. 45°
2. 60°
3.55°

4. 30°

Correct Answer :-
o 45°

18) The sum of two consecutive numbers is 2179. The larger number is ./
3 i Tl o1 AN 2179 B 1 IS H@I gl

1. 1090

2. 1179

3. 1069

4. 1070

Correct Answer :-
e 1090

19) The product of two numbers is 15876. If one number is 9 times the other, then the sum of the two numbersis__ ./
3! T=3M BT UGS 15876 | TG Th AT 30 TBAT F1 9 1 B, a9 S T@mei d1anvT B

1. 420

2.380

3.432

4. 396

Correct Answer :-

* 420

20) The radius of a cone is ‘a’ cm and its height is twice the radius. If the cone is converted into the shape of a cylinder of the
same radius, then the height (in cm) of the cylinder in terms of ‘a’ is: /

T WP F! B <o’ Tt wd 3wt Sars, Biean 31 gt 71 3 i @) ww B ard ve 99 § wuiaiva fean
ST, 99 ‘2’ & Ual § da- o SHurg @ &) &
3a

1. 2
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3.3a

4. 2a

Correct Answer :-

21) If principal = Rs. 400, rate = 6% per annum and time = 18 months, then amount=___ ./
Tfe YA = 400 FUY, IR = 6% Ufaad Td G =18 Ug, aa A= |

1. Rs. 412/ 412%4UTQ

2. Rs. 420/420 %2047

3. Rs. 462 /462 24U

4. Rs. 436 /436 34U

Correct Answer :-
e Rs.436/436%0Q

22) 900 men can finish a stock of food in 25 days. How many more men should join them so that the same stock may last for
20 days? /

900 g3, 25 f&1 T YIS &1 TP WP THTW FX 9Hd ¢ | 374 fha R 7oy aftrfera g9 arfee @ifes gg weie 20
fat & € wwTe 81 wma?

1. 650

2.225

3. 180

4. 720

Correct Answer :-

23) I bought a dress for Rs. 555 which was on sale at 25% discount. What was the marked price? /
B TP v 555 FUT A @WleT foraat fast wR 259 &Y ge | sifera gea Fam 12

1. Rs. 800 / 800 4T

2. Rs. 740/ 740 24U

3. Rs. 680/ 680 24U

4. Rs. 650/ 650 ¥UU

Correct Answer :-

e Rs. 740 /740 %UUQ

24) One of the factors of the quadratic expression 42x% - 55x + T is: /
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foaTd oo 42x2 - 55x + 7 P PGS A A TH ©:
1. (5x - 2)
2. (4x +3)
3. (7x + 1)

4. (6x-7)

Correct Answer :-

25) AB||CD and EF is a transversal intersecting AB and CD at P and Q respectively. If ZAPE = 7x - 10, ZCQP = 4x + 11 and
2DQF =3y, thenx +y= .

AB||CD U4 EF U foades ¥@1 8 it AB U CD P HHR: P TG Q WR Ufasdfed #eal 81 afe LAPE = 7x - 10, 2CQP = 4x +
11T 2DQF =3y, @ x +y= I

1. 20°
2.18°
3.26°

4. 39°

Correct Answer :-
e 20°

Topic:- General Knowledge

1) Bhopal Gas Tragedy occurred in which of the following year? /
frafafea & @ fow ara & Hiore i amad g3 &

1. 1980

2. 1984

3. 1982

4. 1987

Correct Answer :-
*« 1984

2) Which of the following is NOT written by Munshi Premchand? /
frafafea & @ o0 v 4= duee grr fafea 76 82

1. Sevasadan / JaTIGA

2. Nirmala / fef@T

3. Usne Kaha Thaa / 3 &g T

4. Godan / TG

Correct Answer :-

« Usne Kaha Thaa / 399 Del Ul
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3) Which of the following state produces maximum soybean in India? /

fFrafefaa & Q 94 91 39 URd § Siftrpad Jme Uer $d1 82
1. Chhattisgarh / BTG
2. Jharkhand / IRES

3. Madhya Pradesh / H&] e

4. Bihar / [N8R

Correct Answer :-

o Madhya Pradesh / &I P

4) Who is the present Lokayukta of Madhya Pradesh? /
TV & AU ABTgad DI 82

1. Justice Arun Kumar Mishra / ZQTW’{% STRU PHR fasm
2. Justice Naresh Kumar Gupta / Irrqqi%fﬁ‘ﬂ PHR T
3. Justice PP Naolekar / Wl'qqﬁw RICHER

4. Justice Hemant Gupta / W%ﬁﬁ RIS

Correct Answer :-

« Justice Naresh Kumar Gupta / w R PHR LT

5) 2374 March is the Martyr Day of which of the following freedom fighter? /
23 Ard 3t Frafofea & @ fa wdarar 99 1 381e fGaa 82

1. Lala Lajpatrai / CITcIT STSTUdRTT

2. Chandrasekhar Azad / GERIGR TG

3. Ramprasad Bismil / XTHYHIG fafera

4. Bhagat Singh / 1T Rig

Correct Answer :-

« Bhagat Singh / g g

6) Amjad Ali Khan, a famous artist from Madhya Pradesh, is associated with which of the following instrument? /

AT & TP TR FATHR 3H9Ig el @H, Fufif@a A d P aaa a9 gu e
1. Sitar / AR
2. Tabla / dddl

3. Flute /H”@‘T
4. Sarod /TR [

Correct Answer :-

o Sarod /TR [

7) Which one of the following cities is known as the “Silicon City’ of India? /
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fFrrafatad el § 9 919 91 26R URd &1 Rifere [ Rdt & 9 d 9E1 S 82
1. Pune/gfﬂ
2. Delhi / faeedt

3. Bangalore / aTIFR
4. Hyderabad / %3? dlq

Correct Answer :-

» Bangalore / W

8) Which of the following is the state tree of Madhya Pradesh? /
fFrefafad & & 7w Y= &1 ISa g8 HiF-31 §2

1. Banyan / SR7g

2. Babul / 9§¢1

3. Neem /=19

4. Mango / 3TH

Correct Answer :-
« Banyan / sRTq

9) Which broadcasting company has secured the media rights of the matches to be played by Indian cricket team for the
next 5 years? /

g TR SO A 3RTA 5 qUT dP HRAI fhdre HH gR1 @d 9H ara A=l & Hifgar sifier urd fee &2
1. Jio / forat
2. Zee/?fﬁ

3. Star / R
4. Sony / iRl

Correct Answer :-
e Star /¥R

10) Which among the following railway station building is declared as a UNESCO Heritage site? /

Frafafaa 3 @ 5 Yaa RIM Yaq 3 ! favad wa & &9 8 9itq fear mn g2
1. Chhatrapati Shivaji Terminus / AUl fRrarh e g
2. Howrah Junction / TdST SaRH

3. Hazrat Nizamuddin / 89IXd ﬁ\_rl'l'ﬂé?
4. Chennai Central / I8 @E?f

Correct Answer :-

o Chhatrapati Shivaji Terminus / EELIGARCISI KR

11) Where is the principal seat of the High Court of Madhya Pradesh located at? /
U USRI & oI UTATg 3t &I Ale Fei T 32
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1. Indore / 3? N
2. Gwalior / eI

3. Jabalpur / SI§¢TYR
4. Bhopal / T

Correct Answer :-

« Jabalpur / STSITYY

12) The birth place of noted playback singer Kishore Kumar in Madhya Pradeshis____ ./
FAWR #, TRIE Wae TS IR AR FTTH®RIF 71

1. Ratlam / Xd<ITH

2. Guna /T[T

3. Khandwa / TSdl

4. Satna / Fd-Tl

Correct Answer :-
o Khandwa / Gadl

13) The Sanchi Stupa was built by which of the following emperor? /

Frafafaa 3 @ fea Jure gr1 9t WU e+ G T ur
1. Ashoka / 32N
2. Bibisara / [Sf @R

3. Samudragupta / HGIW
4. Chandragupt Maurya / I ord

Correct Answer :-

« Ashoka / 32N

14) The currency printing press is located in which one of the following cities of Madhya Pradesh? /
Ha fiiféT v, wer v & Frafafea weel 4 9 frwd Ra a2

1. Dewas/ éam

2. Indore / saﬁ?

3. Gwalior / TR

4. Bhopal / i)

Correct Answer :-

« Dewas/¢arg

15) The rate at which Reserve Bank of India lends money to commercial banks is known as: /

R R W YR o S, arfdifus o) o) o= SUR it €, I/ 59 A9 &1 ST @
1. Prime lending rate / Wé’%"ﬁf
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2. Advance rate / 30 &3
3. Reverse repo rate / fadyae
4. Repo rate /AT

Correct Answer :-

e Repo rate /UIE

16) Name the Indian woman cricketer who has become the most capped player in the world in women's ODI cricket? /
I YRIG Al fpehex &1 =m0 a1 @ o) Afgen sigleng frde # g 3 e warer e farst =i

1. Mithali Raj / fErdTeft 191

2. Jhulan Goswami / &I et

3. Anjum Chopra / 31\_31'11 En'QT':T

4. Harmanpreet Kaur / AU R

Correct Answer :-

« Mithali Raj / fEdTelt 3191

17) Name the chicken variety of Madhya Pradesh to which Geographical Indication (GI) Tag was awarded recently. /

Tower st if (e & 39 SR &1 19 Fars¢ o g1 § F Wiifre dda G itens) & yer frar mn g1
1. Kadaknath / HS&HY

2. Busra / §&IRT

3. Giriraj / FIRRTST

4. Vanraj / GRS

Correct Answer :-
o Kadaknath / hSH-Y

18) Who is the present Chief of Indian Navy? /

YR THRAT & T u WE B 82

1. Admiral Devendra Kumar Joshi / Q@'&Rﬂ 3dg PHR S
2. Admiral Robin K. Dhowan / Q_Sﬁﬂﬂ e &, HaT

3. Admiral Sunil Lanba / TSHRd ﬁ:ﬁﬁ SIEl
4. Admiral Nirmal Kumar Varma / TSfERd fAdd PHR auf

Correct Answer :-

« Admiral Sunil Lanba / TSfERd ﬁ_“ﬂf“l SIEl

19) Who has been sworn in as the 10th Chief Minister of Tripura following Vidhan Sabha elections in February 2018? /

wradt 2018 ¥ YT T F 918 AR ¥ 107 ger F wu i ey @ e
1. Dashrath Deb / GRRY ¢d
2. Nripen Chakraborty / :j'aT‘T EEZG
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3. Biplab Kumar Deb / fowre PHR Gl
4. Manik Sarkar / A0 TRBR

Correct Answer :-

» Biplab Kumar Deb / fowre PHR q

20) Who among the following is in charge of the Ministry of Minority Affairs in Union Cabinet? /
SEa #hHTsH A SreuRiEre B HATe & THR AR FrAfaf@a A d e 82

1. Mukhtar Abbas Naqvi / J¥&R e qHhdl

2. Alphons Kannanthanam / 3D HATYTH

3. MLJ. Akbar / TH. W, 3fdheR

4. Jual Oram / U] 3{Riq

Correct Answer :-

« Mukhtar Abbas Naqvi / TR e Tl

21) Who among the following Padmashri Award winners of 2018 is NOT from Madhya Pradesh? /
2018 F FafafEa s ReeR fadarst # @ $19 g wewr A 98 32

1. Shamshad Begum / RHRITG I

2. Bhajju Shyam / U] RIH

3. Malti Joshi / FTerci! SRit

4. Baba Yogendra / STl anig

Correct Answer :-
« Shamshad Begum / JHRITG STTH

22) ‘Bagh Print’ in Madhya Pradesh is related to: /
ey § a1 fife forer & wafta 8:

1. Computer printing / &R T

2. Printing jewellery designs / 31T3;[5|'Uﬁ NSRRI Haur
3. Offset printing /3THAC GEUT

4. Textile printing / PUST U

Correct Answer :-

o Textile printing / PUST HKUT

23) ‘Push Ki Abhilasha’ is the work of which famous poet of Madhya Pradesh? /
qur Pt FUATIT ATHS T, HeAve™ & fo R sfa a1 82

1. Harishankar Parsai / RRI®HR Wl_ﬁc

2. Makhanlal Chaturvedi / RIS Tqact

3. Nathuraam Premi / TYTH ot
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4. Gajanan Madhav Muktibodh / TSI+ HT¢/d Gfdaae

Correct Answer :-

« Makhanlal Chaturvedi / ARI-TQTS dqgdel

24) Jamini Roy was a famous ./

S T T TR 3
1. politician / NEEG|

2. dancer / Td®

3. scientist / AR

4. painter / ICECTR

Correct Answer :-

 painter / ICEGIR

25) Vikram Sarabhai Space Centre is located at .
faww AR siafver $s HfR@g
1. Sriharikotta / STgRebICT

2. Thiruvananthapuram / ﬁm
3. Hassan / 19

4. Chandipur / Eﬂ_cﬂ'gT
Correct Answer :-

e Thiruvananthapuram / Wﬁw

Topic:- General Computer

1) Thebelowicon is usedto in MS-Excel. /

ARy feam /T AERA, THUH UFEd # &+ fov seaATe far aar 2

A

1. Sort Text in Ascending Order / 3RIg! HH H HHIG CRC

2. Sort Text in Descending Order / &mﬁﬁwﬁmm
3. Convert text case from Upper to Lower / R Y AR H TR HY P H=ac H
4. Convert text case from Lower to Upper / AR Y IR H TRE HY P! B¢ H

Correct Answer :-

o Sort Text in Descending Order / &mﬂﬁwﬁmm
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Aformula like “=SUM(A5:C5:D5:E5)" to the below MS-Excel sheet would give the following result /
Ay &1 915 vATH-UEHe ofie #, Ud A "= SUM (A5:C5:D5:E5)" Tl oo Zam:
| A | B8 | ¢ | 0 | E

25 25 25 25 2] 1

1. 50
2. 100
3.125

4. 25

Correct Answer :-

« 100
3) When we delete any file using delete key only, the file goes to the ./
9 g $ad fEelic @1 T 3THTT HId gU fHdt Bisa &) fEdfie Fva §, 9l visa o w7el STt 21

1. Downloads / STSTAIGH

2. Recycle bin / g fo=

3. Network Neighborhood / Jeadh W
4. My Computer / HIJ Hh X

Correct Answer :-

o Recycle bin/ Ramed faq

4) The following font style has been applied to this text — “Raghu is my best friend ”; /
mﬁﬁﬁﬁqﬁﬁ?ﬁﬁmmwﬁ“ﬁghu is my best friend -

1. Underline / 37&Xdig+

2. Bold / TS

3. Italic and Bold /%Q@Eﬁ@'

4. Italic /%

Correct Answer :-

« Underline / 3/&Xda-

5) Which of the following is a correct format of Email address? /
fr=ferf@a d @ S 1 - 039 &1 981 Bie 872
1. rajesh@pmp.com

2. rajesh@pmp@info
3. rajesh.pmp.com

4. www.rajeshofpmp.com

Correct Answer :-
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e rajesh@pmp.com

6) How do you select a single word by clicking it in MS-Word? /

THTH-S § 30 U R g o1 frait aR foae gr1 ddee o2 99 32
1. Three times / AF IR

2. Once / Uh IR

3. Twice / &1 SR

4. Four times / R dR

Correct Answer :-
e Twice/ Eﬁ dR

7) Speaker is device. /

ey feasazl
1. an output / Yh 3T3CYC
2. amemory/wm
3. an input / U gYC

4. a control /Wﬁ@ﬁ

Correct Answer :-

« an output / T HI3CYC

8) What is the extension of MS PowerPoint (ver. 2010) files? /
THTH TR WIST (@9l 2010) BT BT TGIC I T 872
1. .pptt

2. .pptx

3. .pott

4. .potx

Correct Answer :-

9) What is to be used to add text in a MS PowerPoint slide? /

U% THUY UfaR WIEe WSS §, TRT US &1 & fore 59 ¥ et vaw fvar wirar @2
1. Note box / AIc Siad

2. Comment box / FHE Sl

3. Text box / CRE ST

4. Text layer / THRE TR

Correct Answer :-

« Text box / CHE ST
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10) Which of the following will NOT cut information? /

fraferfEa & & forad gu=m ®e & enfle

1. Selecting text >Right click and Cut / THRE Yalae B> 3¢ faaw IR BT
2. Pressing Ctrl+X / Ctrl+X CIEE

3. Pressing Ctrl + C/ Ctrl + C TEE Y

4. Clicking on Cut button / < dcd U IESCACTEE

Correct Answer :-
« Pressing Ctrl + C / Ctrl + C Q&M ¥

11) Which of the following is a temporary storage media? /
frafafed & § o149 91 te T e @ifsar g2

1. RAM /X9

2. ROM /|

3. Hard Disk / BTS oW

4. Pen drives /a:f_Q'TSra

Correct Answer :-

« RAM /3

12) Which of the following is NOT a type of page size in MS Word? /
frrafafea & A 19 91 THTd a8 # 09 A1 &1 Uh UHR 8l 82
1. A4
2. A2
3.A3

4. A5

Correct Answer :-

13) Which of the following is NOT hardware? /
FrefafEa & @ o w eI T R

1. Mouse / HISH

2. Printer / fiex

3. Interpreter / 3’32;1 [s
4. Scanner / TR

Correct Answer :-

» Interpreter / geuieR

14) Which of the following is also known as brain of the computer? /
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Frafafea 4 3 5 dger & afsrss & = § ff wrEr srar 32
1. Control Unit / ¢id g+

2. Central Processing Unit / W IR q&lf

3. Memory unit / AORT ?ﬂ?ﬁf

4. Scanner / SR

Correct Answer :-

 Central Processing Unit / @?AF‘T ORI ?Iﬁ?

15) The full form of KB is ./
Fdt &1 gUi =Y Bl

1. Kilo Byte / ool aT8C

2. Kilo Bit/ et fore

3. Key Block / 1 sld

4. Kernal Boot / idl qc

Correct Answer :-

« Kilo Byte / oot aT8C

16) _ Keystroke is used to go to the top of the document. /
PRI BT YN Siagie & 2 W oA F e far s 21
1. Ctrl + End

2. Ctrl + Home

3. Top

4. Escape

Correct Answer :-
o Ctrl + Home

17) is NOT an e-payment method. /
TP §-YTa faf el 31

1. e-Cheque / é’-%

2. Credit card / ST HT1S

3. Cash on delivery / & 319 feferast

4. Debit card / STIC HTS

Correct Answer :-

 Cash on delivery ) 1 319 feferas

18) is NOT an antivirus software. /

TP THARY AeawR T8l 8|
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1. McAfee / b1

2. Avira / 3fdRT

3. DBMS / SeTHTY
4. Avast / TdRC

Correct Answer :-

. DBMS / SHITHATY

19) How can you select the entire document in one go in MS-Word? /
THUY 9 # U@ IR & 31U [T ST $) Jade HT 0hd 82

1. Shift + A

2. Ctrl + Alt + Del

3.Ctrl +A

4, Ctrl+ Alt+ A

Correct Answer :-
o Ctrl+A

20) In excel, which button do you click to add up a series of numbers?/

TR #, B 91 9 37 GBS & TP HH P site & forg foere wed &2
1. The auto sum button / 3{Tcl 9 g

2. The quick total button / f&d Aed ged

3. The Formula button /ﬁ"-i?‘l'[a?:f

4. The total button / Ied g

Correct Answer :-
« The auto sum button / 3Tl TH g

21) When sending an e-mail, the line describes the contents of the message./

9 TP SHA Wl ST @, ot TS, AAS & Pi<c B TS B g
1. Subject/ﬂa-ﬂﬁl?.r

2.To/¢g
3. cc /It

4, Content / di<c

Correct Answer :-

e Subject /W

22) We can bring up the “Find and Replace” Dialog box by pressing which of the following function Key in MS-Word?/
g9 TATE 98 A fFuferfad § 3 f5a haw 31 &) garas "BIEs TS N@ S sieq &) o 99d 82

1.F4
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2. CTRL+F5
3. CTRL+F4

4. F5

Correct Answer :-
e F5

23) Which of the following icons stands for Skype? /

frefafEd & Q o4 91 3ge, TH1sU &I (Aefid Hdr g?

Correct Answer :-

24) Which of the following is a correct URL? /
frrafafea & @ o1 a1 T el gamua 82
1. search@internet.in

2. www.yahoo.com

3. Internet Explorer

4. Google

Correct Answer :-

* www.yahoo.com

25) The maximum Zoom percentage in Microsoft PowerPoint 2017 is __./
ISP INITTE TR Wse 2017 § Sifiwaw 9 ufa=ra gl

1. 200%

2. 100%

3. 500%

4. 400%

Correct Answer :-
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Topic:- Logical Reasoning

1)
If 30% of X=025 of Y= % of Z_ then find X:Y-Z. /

AfE X &HT 30%, Y& 0258 Al Z a1 %% drx-v-z & g v

1. 10:9:7
2.9:7:5
3.5:7:11

4. 10:12:15

Correct Answer :-

e 10:12:15

2) CANCELLED

A shopkeeper purchased 80 kg of potatoes for Rs.8.40 and sold the whole lot at the rate of Rs.12.50 per kg. What will be his
gain percentage? /

TS gHTER 80 fra 31 8.40 TUT & Wtear g 3R Tt &Y 12.50 wfar e o1 g A J9ar 31 STHT ATy yfo=ra w82
1. 19.04%
2. 18.40%
3. 19.40%

4. 18.04%

Correct Answer :-
e 19.04%

3) If the cost price is 94% of the selling price, then what is the profit percentage? /
afe o geu, fasha Tea &1 949 8, d@F a1y ufa=a | e

1. 6.38%

2.6.73%

3.6.37%

4. 6.83%

Correct Answer :-

e 6.38%

4) If the first and the third digits in each number are interchanged, then which number will be the smallest?

347, 418, 635, 824,259 /

TS TS W | Ugd 3R R 3i ot 31U A S o Sirn g, d 1 W S agad gt

347, 418, 635 ,824, 259
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1. 259
2. 418
3. 824

4. 347

Correct Answer :-

e 824

5) If X and Y are two sets such that n(X) = 17, n(Y) = 23 and n(XUY) = 38, then find n(X1Y). /
Tfe X MR Y &) U= 39 UBR & 1P n(X) = 17, n(Y) = 23 3R n(XUY) = 38, 9 n(XN0Y) T B |
1.5

2.4

3.6

4.2

Correct Answer :-

6) If0.25: X :: 5:8, then find X. /
Tfe 0.25: X :: 5:8, 99 X JTd BH |
1.0.7
2.0.3
3.04

4.0.8

Correct Answer :-

7) In what ratio must tea at Rs. 61 per kg be mixed with tea at Rs. 71 per kg so that the mixture must be worth Rs. 64.50 per
kg? /

61 3UT Ufd fpat ara & A1y 71 $UC ufa fora ama & {5 srqura ¥ fireman g, 5= 76 fRrgror &1 97 64.50 $UT
wfa fet gt sime?

1. 8:13
2.7:13
3.13:7

4, 13:8

Correct Answer :-

o 13:7

8) The cost of an eraser is 40 paisa and the cost of a pen is Rs. 4. What is the ratio of their cost in the simplest form? /

TS ISR BT G4 40 TAT 3R T FaH T T 4 IUT 3| TG IRA FU & IUB! ANTd HT SJUTd T 82
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1.2:5
2.5:2
3.5:1

4. 1:10

Correct Answer :-
o 1:10

9) The monthly income of a person is Rs. 8000. If his income is increased by 20%, then what will be his new monthly
income? /

TP ATSHI P} ATRIS 3T 8000 TUT g | TS BT THEHT 20% TP ¢ Y, 79 SYD! T8 ATRIS 31T 71 ghft?
1. Rs. 9600 / 9600 TTY
2. Rs. 9400 / 9400 ¥UT
3. Rs. 9000 / 9000 ¥UY

4. Rs. 9200 / 9200 ¥YU

Correct Answer :-

* Rs. 9600 /9600 3UT

10) The average of 11 results is 35, that of the first five is 35 and that of the last five is 22. Find the value of the 6™ number. /
11 UROTTY @7 SfeT 35 &, R e uie @1 35 3R st i @1 22 31 63 R BT AR I AR

1. 110

2.95

3. 105

4. 100

Correct Answer :-

« 100

11) The average of the first 7 prime numbers is: /

UYH ITd TSI TB130T BT 3Hd 8-

Correct Answer :-

g2
7
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12) Let A have 6 elements and B 12 elements. What can be the minimum number of elements in AUB? /
AT AT 6 A & UTH 6 I 3R B F URT 12 9 &1 AUB ¥ dcdl &1 AW BT T §Y bl 32
1.3

2.9

3. 12

4.6

Correct Answer :-

13) A car takes 25 seconds to travel 375 meters. What is its speed in km/hr? /

TP PR 375 HieX B AT H 25 A5 S BT GHY Ad! 8| TSB! 91t fpHl/GeT A | g2
1. 55 kv/hr / 55 fopi/eieT

2. 54 km/hr / 54 fepHi/der

3. 56 kmv/hr / 56 fepHl/HeT

4. 53 km/hr / 53 fopHI/deT

Correct Answer :-
« 54 km/hr / 54 fopHI/EeT

14) In a mixture of 85 litres, the ratio of milk and water is 2 : 1, respectively. If the ratio of milk and water is to be 1 : 2, then
the amount of water to be further added is: /

%ssﬂa%ﬁrmﬁ,guaﬁ?uﬁmamm: 2:1 21 9f g 3R Ui 7 3T 1 : 2 Y, 99 T T UTit &Y A

1. 87 litre / 87 TR
2. 80 litre / 80 TeX
3. 79 litre / 79 Tex

4. 85 litre / 85 TeX

Correct Answer :-

« 85 litre / 85 WIcR

15) In a group of 45 people, 34 persons like apple, 44 persons like guava, and each person likes at least one of the two fruits.
How many like both apple and guava? /

45 AT & TYE H, 34 AT AT THS DR &, 44 AR 3A¥¢ MR TS AT Ht HH A HH G Bl | A Th A Wi
21 fpam i T o 3mvg Sl e Hed &2

1.35
2.33
3.28

4.30

Correct Answer :-
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16) A sum of Rs.7.20 is made up of 80 coins which are either 10 paise or 5 paise coins. How many are of 5 paise coins? /
7.20 TUT Pt Pt AR P 80 Riad &, Brad A 10 T 715 1A & Riad &1 370 5 1 & v Riep &2

1. 14

2. 16

3.13

4. 15

Correct Answer :-

17) A cricket team won 15 matches out of the total number of matches they played. If their win percentage was 30%, then
how many matches did they play in all? /

gmmﬁ@ﬁwﬁﬁﬁwmﬁﬁ 15 A WA | 3R IAPY Siid HT Ufa=Id 30% o1, A Fa fHrares feaa

1. 50
2.70
3. 60

4. 40

Correct Answer :-

18) Find 10% of 450 km? /
450 fHTt BT 10% TG B2
1. 55 km / 55 foouit
2. 45 km/ 45 Tt
3. 50 km / 50 fobedt

4. 40 km / 40 fpt

Correct Answer :-

o 45km/ 45 fopdl

19) If by selling an article for Rs. 490 a shopkeeper gains 10%, then find its cost price. /

i 490 TUT H TH a¥g B! ITBR GHGR 10% ATY HHTAT 8, 9 ITDT 69 Ged J1d B
1. Rs. 444.45 / 444.45 54U

2. Rs. 447.45 / 447.45%4Q

3. Rs. 446.45 / 446.45 34U

4. Rs. 445.45 / 445.453UUQ

Correct Answer :-
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o Rs. 445.45/445.45°504¢

20) The average weight of 12 persons is increased by 3.5 kg when one of them who weighs 57 kg is replaced by a new man. The
weight of the new manis: /

12 ST T 3Hd 9o 3.5 fP AU a& 9¢ Sd1 & od 374 9 57 fPal a9 a1a Uep aafad 3 39 e gIRT
ufaenfid ®v fear sirar 21 ¢ safe &1 aeH @:

1. 98 kg / 98 forall
2. 96 kg / 96 foball

3.99 kg / 99 faran
4. 95 kg / 95 fopa

Correct Answer :-

« 99 kg /99 fHar

21) The average age of a man and his son is 22 years. The ratio of their ages is 19:3 respectively. What is the man’s age? /
TS ATGHT 3R ISP T B 3R BT 3Ad 22 T4 g | STHT ST BT ST HHM: 19:3 ¢ 1 STGH B AR AT 82

1. 38 years/ 38 ay

2. 40 years / 40 ay

3. 35vyears/ 35 Ty

4. 44 years / 44 ay

Correct Answer :-
« 38years/38 ¥

22) Manjeet is 4 times as old as his son at present. After 7 years, Manjeet will be thrice as old as his son. What are their present
ages? /

Holld 3199 G BT TAHT Y F 4 A1 ST 8 | FId Tl 91, Holld B 31 TP YF $1 31 B 3 A g 9T | 39 g1
P AU 3T T 82

1. 42 years, 15 years / 42 El'ﬁf, 15 %
2. 30 years, 12 years / 30 atf, 1299
3. 35 years, 10 years / 35 a'sf, 1098

4. 56 years, 14 years / 56 a’ﬁi 14 9%

Correct Answer :-
* 56 years, 14 years / 56 ?ﬂf, 14 99

23) The present ages of Prajapati and Anuj are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their ages will
become 11 : 9 respectively. What is Anuj’s present age in years? /

TSTUf 3R SIS Pt TAUTT ST BT SJUTd HUIM: 5 : 4 81 3 T qTG, ITBT ATY BT SJUTA HH: 11 : 9 TY I FALM
Tl § S B ad AT g T2

1. 40
2.27

3.30
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4. 24

Correct Answer :-
e 24

24) A bus travels in 86.1 km/hr. How many meters will it travel in 20 minutes? /
TS 53 86.1 fHH. /e @ g wRedt 31 98 20 e & fpan ier 9t amn w= anfl
1. 27800 m / 27800 H

2. 28750 m/ 28750 1t

3. 28600 m / 28600 T

4. 28700 m / 28700 |

Correct Answer :-
« 28700 m /28700 Ht

25) A bus covers a distance of 216 km at the speed of 24 km/hr. In how many hours will the bus cover the same distance? /
TS 79 24 ffl/aer $t ara [ 216 forh 31 gl 99 B B | e o ¥ o qu g 9w s

1. 10 hours / 10 ¢

2. 7 hours / 7 €<

3.9 hours / 9 ©¢

4. 8 hours / 8 ¢

Correct Answer :-
e 9hours/9 e

Topic:- General Management

1) A business loan repayable according to a specified schedule is known as: /
e fAfEY St & SR Uiy U S9awTd U1 59 U § ST o1l 3:
1. Bond / SI<

2. Term loan / TATYH Hof

3. Stock / Tl

4. Security / Flﬁ'lﬂ%l

Correct Answer :-

« Term loan / 3TafYe ool

2) A written statement of what the worker actually does, how it is done, and the working conditions, is known as: /

U HHUR] T BT HIdT ¢, T8 4 (5T oIdT & 3R B B 31 ufvfRufaai 1 €, F IR § v forfad faavor i
FTY H ST ST @

1. Job design/WGTf‘l\-W(Gﬁ’_d SIES)
2. Job description / BT faavur (Siid fefermm)
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3. Job specification / o fafd=e (Tflv'lTﬁr TR M)
4. Job motivation / BT HTHURTT (le'l_d nﬁﬁé&m

Correct Answer :-

 Job description / P faavur (\_rﬁ’_d %@FU{FD

3) According to which one of the following accounting concepts, it is assumed that an entity will continue to operate for an
indefinitely long period in future? /

fFrafafaa 3 A 5T awr YR & AR T /AT oTar & 6 ue go1s, uias A ifAifia wra ao @t safu &
fore Tarer w St T

1. Economic entity concept / 3ffes Wl_sf HIYRUM @aﬂq% ufed EF\IIT@'Q)
2. Going-concern concept / W—Elﬁw SHIYRM (TnE"T-W WI\IT\a'Q)

3. Cost concept / AT YR (EI'TVR ﬁ-«ﬁw)

4. Cash concept / T q AIYRUI (37_-‘2'[ aﬁ%\qlf)

Correct Answer :-

» Going-concern concept / W-m:f SIYRUT (TS -WHO—TTQT')

4) Tangible items that will be consumed in the course of normal operations are termed as: /

T HETA & SR SUHNT B S arell Gef aegeif (9 3TgeH) B 3= Hg1 SIrn &
1. Supplies / 3Tgfd (TATSH)

2. Produces / SUTG (TSH)

3. Work-in-progress / FATONH &1 (@h-37-919)

4. Inventory / T%q Ja (3Tde)

Correct Answer :-

o Supplies / mﬁ'ﬂﬁﬂ)

5) The era of Indian economy post-1991, characterized by extending privatization and lessening restrictions on business
operations in the economy is popularly termed as: /

1991 & §1¢ URAY rfeqawt &1 98 g1, oY srforawr & samuR waras! iR ufass & &9 #4 3fR fAeftezor &1
R &3 g sifyraféra fasan o, e seaman 8:

1. Privatization / S0l

2. Industrialization / 3N IEHROT
3. Liberalization / 3GRIBRUI

4. Globalization / J%fieRUT

Correct Answer :-

e Liberalization / 3¢ IR

6) The ability to influence people towards attainment of organizational goal is known as: /

SIS T&d B U & g Al 1t yuifaa w3 & ermar f=1 wgardt 8:
1. Charisma / T T (fﬁﬁ'a:ﬂ)
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2. Motivational capability / IR &HaT (HfeavHd dhufaferdh)

3. Directive ability / G &dT (SMRfaea Tfaferch)
4. Leadership /ﬁa?mé SRM)

Correct Answer :-

« Leadership / 7qcd (A1S=IRT)

7) The activities of designing and producing the container for a product is known as: /

TP IAIE P forg He-R B fEomgf iR Iaure o1 nfafafRry & 539 9 A ST ST 8:
1. Merchandising/W—ﬁW(qé%EﬁiTD

2. Presentation / q’iﬂ?ﬁw (USICRM)
3. Promotion / WHfd (ClTh'Q'Iq)

4. Packaging AREICE] (ﬁm

Correct Answer :-

o Packaging / ISCSIEE] (ﬁ%ﬁﬂ)

8) The set of independent organizations responsible for making the product available for the consumer are known as: /

IUHIET & T Iuasy STg #Y 991 2g PR Wadd TWre-l & de &1 A $g1 S 8:
1. Suppliers / U;ﬁﬁf(m

2. Retailers / pChX fadsar (ﬁ%ﬁﬁ)
3. Marketing channels / HfET I 7eq

4. Sales Managers / IEARERED] (@?\E{ ﬁeﬁlﬁ)

Correct Answer :-

o Marketing channels / T T I e

9) The combination of two or more companies into one wherein the joining entities lose their identities is known as: /

amgﬁﬁWWmeﬁm,Wmﬁﬁmme@ﬁﬁaﬁwmﬁm
SIGLEGH

1. Take over / BIIAYR T

2. Acquisition / ST

3. Merger / IEGRE

4. Joint venture / Hgd IeH

Correct Answer :-

e Merger/ faea

10) The value of all final goods and services within the country’s geographical territory by all individuals, corporations, and
government is known as: /

Tt safaaat, el vd SRR gRT 31 & Wi & & Wiaw wuft sifow awgeil vd Jarsit & gwa &1 $g19ra1 8:
1. Net national income / ﬁﬁ?“fﬂ'@j’q S
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2. Gross domestic product /W‘aiqseq Q
3. Gross national product / Jh ¢l T@T{ Jdlq
4. Per capita income / ufa afad sma

Correct Answer :-
o Gross domestic product / Jh el WBECI [+

11) The desire directed to a specific object to satisfy a particular requirement which is backed by the ability to pay for it, is
known as: /

TS FIRT o1vd 3l APee 31 & e we [Afdee axg & e R o1, <t 39 fg yoram &3 ot gaar 3
Tufda g, e =0 o S S @

1. Want / 3{TIRGedl (dIT)
2. Stated want / &R 3Tazgddr (Res af<)
3. Demand / A1 (ﬁ"ﬂ:l'lg)

4. Need / Sxd (FIT8)

Correct Answer :-

« Demand / AT (%TlT@)

12) The cash, equipment and other such resources that an entity owns and uses for its operation are termed as: /

THA, IUDRVT SR 3= TH HHAIYA Sl T §HTS & AT g SR $HDb AT P [ STAHTA I 8, 1 Hgand o:
1. Accounts / T@T (3fPTICH)

2. Tangibles /%f (éﬁﬁ?\q)

3. Liabilities / STRaIIE (AT3fafercd)

4. Assets / OREUfRT (@W)

Correct Answer :-

. Assets / GREURT (@?ﬂ)

13) The product in the portfolio with a high market share and a high market growth rate is known as: /
I IIWR TR SR S TR faPTH &R & 1Y TIEHIra) # St H =1 &/ SH1 oIl @

1. Dog/ 3

2. Question mark / CECRICY

3. Cash cow / FY B3

4. Star / IR

Correct Answer :-

e Star /IR

14) The policy of government related to public revenue, expenditure, and debt is known as: /

WP oI, Y, 3R BT A Haftd TR &1 Hfd B 539 917 A S1H1 Sran @:
1. Budgetary reform / a’ae“rqﬁsm
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2. Union budget / CEREN
3. Fiscal budget / TP Fole
4. Fiscal policy / NEEIRIREII

Correct Answer :-

« Fiscal policy / RECANBEII

15) The perspective of management that emphasizes on the importance of understanding behaviors, needs, and attitudes of
people in the workplace and social interactions is known as: /

HaeH BT URNET ol FTIRIT Td Ao sr=ai=afear § dN & saagR, oivevd Ud g & Hs@ & dgd R ad
a1, T peamar @

1. Bureaucratic perspective / :ﬁWﬂﬁ uRueg
2. Humanistic perspective / AHaararg! aRsed
3. Classical perspective / AR aRTIeET
4. Scientific perspective / e aRved

Correct Answer :-

o Humanistic perspective / BIECRICIFARNRE

16) The economic system followed by socialist countries where equal importance is given to both public and private sectors
is known as: /

FHTSIATE! 32 % GRT ST B4 arelt 3 yorredt sTei Ardwitre iR fFreft ST & &) gw wewa fear srar g,
= weanit 8:

1. Market economy / dT9IR g
2. Communism / J¥Edlg

3. Capitalism / ﬁsrﬂa'lz
4. Mixed economy / T3 Srefegay

Correct Answer :-

« Mixed economy / fHf3@ SrfegaRT

17) The lateral or diagonal exchange of messages among peers or coworkers that also includes team communication is
known as: /

IR a1 HEe il & dta e &1 ury a1 fawf fafra, foras dv war o wnfie gtar 8, e seamar @:
1. Upward communication / 3&_1&%'@ AR (\31"13_5; qu)

2. Horizontal communication / THERII YIR (BRI d HRIFTHRH)

3. Downward communication / 3eTIE TR (ST3AdS HRIHT)

4. Cyclic communication / EEARESEIN (ﬂ'l'qm Wm

Correct Answer :-

« Horizontal communication / SHRIT TAR (RISI<d Wm

18) The process of providing the existing or new employees with the skills and knowledge required to perform their jobs is
known as: /
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HIS[GT Td 79 HHATRAT BT Ut A} BT UG B & o7 SMTazas HI=7e Yd J1H U PR B Usha1 H1 54
AT ¥ ST o1 §:

1. Employee engagement / HHAR B (smaﬁ gﬁﬁﬂ?)

2. Performance appraisal / TR &1 P RICE! (Wlﬁ @T}lﬂ)
3. Induction / YA (SSRM)

4. Training / UfRT&f0T (aﬁ'rf)

Correct Answer :-

e Training / gfrer (aﬁ'rl)

19) The process of systematically moving workers from one job to another is known as: /

TE Nl A g | U ©U & 7d T8 4TS Bt ulehar Hf 57 YHR ST S 3:
c (9] fn

1. Job enlargement / HRIqH CIEESEISEH)

2. Job environment / HTY TATARTT (\_SI'\I’_Q' QTﬁVTQTﬁE')

3. Job enrichment / T4 Tae (GIVW Qﬂﬁaﬂ?)

4. Job rotation /W&na'ch(\‘:l‘f’q’z CTM)

Correct Answer :-

« Job rotation / BT T (GTVWW)

20) The management function concerned with monitoring employees’ activities, determining organizational performance
towards its goal, and making corrections as required is called: /

TS BTd St HHATE) B Al & He6fta 81 8, 2rva ey 9 fiwn # Eierere vexi+ @1 fFuffvd o € ik
ATAFDH AR YR H4 8, 1 Hgand &

1. Controlling / [BREWI @@m

2. Organizing / RUrE (&ﬁlﬁ?@ﬁiﬂ)
3. Planning / e ('TITE‘FT)

4. Leading / 39T (Fﬁ%'rf)

Correct Answer :-

 Controlling / [GUELI (37_@1%170

21) An enterprise that manages production establishments or delivers services in at least two countries is known as: /
TSP UHT I9H S HH A FH &l S H ST R BT Yae BT & 3Yal HaT¢ YT T g, e sgaran g:
1. Multinational corporation / EETI'Qj'q g

2. International corporation / v <TeE T g

3. Trading and merchandising company / GITUR @%TD 3R wu-fawa (q?f%'l—{%f"f) U

4. Export house / frafa e

Correct Answer :-

« Multinational corporation / SgRTS 1T fATH
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22) An informal communication network within the organization that carries workplace gossip is known as: /
TS & Sl TP SIS HUR Acad St FrIRId $1 UMY $I Ugard g, i Feand &:

1. Upward communication / @‘aa‘q@ AR (&an_g Wﬁmﬂ)

2. Horizontal communication / THEIRIT HaR (Bmﬁﬁ?ﬁ Wm

3. Downward communication / ﬂm’ﬂ@ AR (@G:Iaé mﬁaﬂ?ﬂ)

4. Grapevine / SFYAIG (JUATSH)

Correct Answer :-

« Grapevine / SFYATG (GUaTg)

23) A group of two or more people who interact and coordinate their efforts to accomplish a common goal for which they
are committed together is known as: /

31T 1 A 3w AT BT U WHE W U I a8, o fore 3 v a1y ufdes gU 8, B T aeA & g s
T R IIadid IR gy $Id e,  dead el

1. Team / S0
2. Department / faumT

3. Function / T
4. Pack / a$

Correct Answer :-

. Team/?ﬂ'q

24) A certificate promising to pay its holder a specified sum of money on the maturity date and an interest until then is
known as: /

TS THIUTS ol 39S YRS &1 uRueral fafy R pa fafafdse iy sk 99 9 @A arar st g1 $31 ST 9a9- 3aT 8,
=1 pgama :

1. Goodwill certificate / ARG FHTUH ([Sfad Affthare)
2. Bond /&Y (Eﬁ%')
3. Term loan / 3MTAf® Hof (Eﬁ?‘h:f)

4. Stock / I

Correct Answer :-

« Bond/§Y (S18)

25) A type of conflict management in which people engage in mutual benefit discussions and consider various alternatives to
reach a joint decision that is acceptable to both parties is known as: /

TP UPR T H9Y gaee Rorrd aihr ureae ary gafel # Jav gid § ok te wgad fAofa @ ugea & o fafim
faPpeul W faR ®va & il {5 S el & Therd g, 38 9 ATH | ST ST 8:

1. Avoidance / TR8R (31373378)

2. Accommodation / JHT (QWT@'QH)
3. Competition / gferegef (ﬁmﬁﬂq)

4. Negotiation / Tfdaraf (ﬁl"ﬁﬁl@l‘l}

Correct Answer :-
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o Negotiation / RIBEIG (&Fﬁﬁl@?ﬂ)
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